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 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

        

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

           



(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 Class : 9-10

RAAH Group Foundation Exam : Jan. Last Week / Feb 1st Week
5



v Fill in the blanks choosing is coorect
form of non-finite verb given below in 
alternative choice  :

41. Nitish shall .......... as I say.

 (A) do (B) doing

 (C) to do (D) None

42. Radha saw me ........... her bedroom.

 (A) enter (B) entered

 (C) to enter (D) None

v Fill in the blanks with appropriate Modals.

43. ................. you live long!

 (A) may (B) might

 (C) can (D) would

44. ............... I go now, sir.

 (A) can (B) may

 (C) will (D) shall

v Change of Voice :-

45. Who is creating this mess?

(A) Who has been created this mess?

(B) By whom has this mess been created?

(C) By whom this mess is being created?

(D) By whom is this mess being created?

46. She makes cakes every Sunday.

(A) Every Sunday cakes made by her.

(B) Cakes are made by her every Sunday.

(C) Cakes make her every Sunday.

(D) Cakes were made by her every Sunday.

v Complete the following sentences using 
appropriate articles. In some cases, no 
articles are needed.

47. Harishchandra was ……………. honest king.

 (A) a (B) an

 (C) the (D) None of these

48.    I am fond of ………………. classical music.

 (A) a (B) an

 (C) the (D) None of these

49.    He is …………………. oldest member of the club.

 (A) a (B) an

 (C) the (D) None of these

v Complete the following sentences using an 
appropriate preposition.

50. He is partial ………………….. his relatives.

 (A) for (B) with

 (C) to (D) None of these

51. His infatuation ………………. her led him astray.

 (A) for (B) with

 (C) to (D) None of these

52. I have great respect ………………….. him.

 (A) for (B) with

 (C) to (D) None of these

v Complete the following sentences using 
appropriate simple present or present 
continuous form.

53. My sister …………………….. at a municipal 
school.

 (A) teach (B) teaches

 (C) is teaching (D) None of these

54. Volcanoes ……………………. hot lava into the air 
when they ……………………..

 (A) are shooting, are erupting (B) shoot, are 
erupting

 (C) shoot, erupt (D) are shooting, erupt

55. In below question Four words are given. Find 
out that word, the spelling of which is WRONG. 
The letter of that word is Your answer. 

 (A) Passion (B) Fashion

 (C) Ration (D) Tution

 Class : 9-10
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56. Atomic mass of Hydrogen is –
(A) 1 (B) 2

 (C) 4 (D) 6

57. Who Discovered Newton?

 (A) J. Chadvic (B) Rutherford

 (C) Tomson (D) Neils Bore

58. Fibrous root system is found in –

 (A) Mustard (B) Radish

 (C) Wheat (D) Carrot

59. Dihorrea is caused by –

 (A) Germs (B) Septic

 (C) Protozoa (D) Algae

60. Disease not found in children.

 (A) Rabies (B) Polio

 (C) Tatnus (D) Diphtheria

61. Modernised source of energy is.

 (A) Kerosene Oil (B) Coal

 (C) Natural Gass (D) Bio-Gass

62. Measuring Unit of force is.

 (A) Joule (B) Newton Meter

 (C) Both A and B (D) Newton

63. Waves produced in water are –

 (A) Verticle (B) Longitudinal

 (C) A and B both (D) Sometime A Sometime B

64. Urine of Ramesh Contain's sugar, which 
diseases he is suffering from?

 (A) Cancer (B) Typhoid

 (C) Goitre (D) Diabetes

65. Transformer is to convert –

 (A) Resistance (B) Direction of Current Flow

 (C) Potential Diffrence (D) Electrical Energy

66. Filament of a bulb is made from –

 (A) Iron (B) Tungston

 (C) Copper  (D) Aluminium

67. Chemical formula of Butane is –

(A) CH  (B)C H4 2 6

(C)C H (D)C H3 8 4 10

SCIENCE

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)AB

          

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) (B)

(C) (D)

 

(A) CH  (B)C H4 2 6

 (C)C H (D)C H3 8 4 10

 Class : 9-10
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COMPUTER

 
(A) (B)
(C) (D)

 

(A)Ctrl+D (B)Ctrl+P
(C)Ctrl+S (D)Ctrl+B

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

71. Which of these is web browser?
 (A) Power Point (B) Firefox
 (C) Word (D) Point
72. What is shortcut key of data save?
 (A) Ctrl+D (B) Ctrl + P
 (C) Ctrl + S (D) Ctrl +B
73. Where disc is put in computer?
 (A) In CPU (B) In Disc Drive
 (C) In High Drive (D) In Modem
74. Which is most powerful computer?
 (A) Mainfrace Computer (B) Mini Computer
 (C) Super Computer (D) Micro Computer
75. Which is not inseparable part of computer?
 (A) Mouse (B) Monitor
 (C) CPU (D) UPS

v Out of four given been three are similar in 
someway. Mark the odd one

76. (A) Hastinapur (B) Indraprasth

 (C) Mathura (D) Chandigarh

77. (A) 2 = 4 (B) 3 = 9

 (C) 5 = 15 (D) 4 = 16

78. (A) Water Current (B) Energy Food

 (C) Bulb Brightness (D) Sun Light

79. If VIJAY can be written in YAJIV then KUMAR 
will be written as –

 (A) AKMRU (B) KURAM

 (C) RAMKU (D) RAMUK

MANTEL ABILITY

v 



 (A) (B)

(C) (D)

 (A)2 = 4 (B)3 = 9

(C)5 = 15 (D)4 = 16

 (A) (B)

(C) (D)

 VIJAY YAJIV 

KUMAR 

(A)AKMRU (B)KURAM

(C)RAMKU (D)RAMUK

 

(A)37km (B)37m

(C)37nm (D)37pm
 

(A)Al (B)Na

(C)Cu (D)K
 

(A) (B)

(C) (D)

68. Radius of Hydrogen atom is ?

(A)37km (B)37m

(C)37nm (D)37pm

69. Highly reactive metal is –

(A)Al (B)Na

(C)Cu (D)K

70. Percentage of water in human body?

(A)80% (B)75%

(C)Both A and B (D)60%

  Class : 9-10
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 



(A) (B)

(C) (D)

v 







  

  

  

  

  

80. As circle is associated with circumference so 
as square is associated with?

 (A) Area (B) Angle

 (C) Diagonal (D) Perameter

v Below given three figures make a pattern. 
Find the fourth which is most suitable to 
continue the pattern.

81. Question Picture Answer Picture

82. Question Picture Answer Picture

83. Question Picture Answer Picture

84. Question Picture Answer Picture

85. Question Picture Answer Picture

86. H.C.F. of 336 and 54 is 6 then LCM will be  – 
 (A) 3023 (B) 3024
 (C) 3025 (D) None of these

3 2
87. Exponent of 5x  + 4x  +7x is – 
 (A) 1 (B) 2
 (C) 3 (D) 4

388. Value of (1.2)  is – 
 (A) 1.528 (B) 1.628
 (C) 1.728 (D) 1.828

MATHS

 HCF LCM
(A) (B)
(C) (D)

3 2
 5x  + 4x  +7x 

(A)1 (B)2
(C)3 (D)4

3  (1.2) 
(A) (B)
(C) (D)

 Class : 9-10
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 x : 75 :: 15: 45 x
(A) (B)
(C) (D)

 
(A) (B)
(C)       (D)

 A.P. 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 A B Sin A = Cos B A+B 


 

(A) (B)
 

(C) (D)

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

 
 

(A) (B)
 

(C) (D)

 


(A) (B)
(C) (D)

 


(A) (B)
(C) (D)

           

 
(A) (B)
(C) (D)

 
(A) (B)
(C) (D)

89. If x:75 : : 15 : 45 then find 'x' – 
 (A) 10 (B) 25
 (C) 20 (D) 15
90. In isoscle triangle is – 
 (A) All sides equal (B) Two sides equal
 (C) No sides equal (D) None of these
91. Common difference for AP -5, -1, 3, 7 ... is  – 
 (A) 2 (B) 4
 (C) 3 (D) -4
92. No. of fraction between 0 and 1 is – 
 (A) 4 (B) 5
 (C) 6 (D) 7

93. If A and B are acute angles and Sin A = Cos B, 
Then the value of A + B will be –

0 0
 (A) 90  (B) 60

0 0
 (C) 45  (D) 30

94. To a Circle how many parallel tangents can 
be drawn –

 (A) 1 (B) 2

 (C) 3 (D) infinite

95. The longest chord of a circle is – 

 (A) Radius (B) Major Arc

 (C) Minor Arc (D) Diameter

96. The angle on a Semi-circle is – 
0 0

 (A) 180  (B) 45
0 0 (C) 360  (D) 90

97. In right angel triangle the side opposite to 
right angle is known as – 

 (A) Base (B) Perpendicular

 (C) Altitude (D) Hypotenuse

98. On Dividing a line segment of 15 cm long in 
the ratio 2:3, the length of the largest part 
with be – 

 (A) 10 (B) 9

 (C) 6 (D) 7

99. Mean of 21, 14, 29, 25, 32, 42, 23, 49  is 

 (A) 32 (B) 14

 (C) 29 (D) 49

100. Probability of an impossible event is – 

 (A) 0 (B) 1

 (C) 1.5 (D) 100
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